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  Written Exercise 14:  
Translate John 1:12-13 into correct English (31 answers):



Parse the following words according to the appropriate model (71 answers):

o^soi(13 answers): _____ Pron - Nom (_____) - M - P - o^so", -h, -on - introducing a relative substantival appositional dependent clause - __________

de: Postpositive coordinate conjunction introducing independent clause place in contrast to the preceding independent clause - but 
e[labon(8 answers): 2 Aor (_____) - _____ - Ind - 3 - P - __________ - _______________
aujtovn(10 answers): _____ Pron - Acc (_____) - M - S - aujtov", -hv, -ov - _____
e[dwken(8 answers): 1 Aor (_____) - _____ - Ind - 3 - S - divdwmi -  _________
aujtoi'"(10 answers): _____ Pron - Dat (_____) - M - P - aujtov", -hv, -ov - __________
ejxousivan(7 answers):1 - Acc (_____) - F - S -  ejxousiva, hJ - __________
tevkna(7 answers): 2 - Acc (__________) - N - P - tevknon, tov - __________
qeou'(7 answers): 2 - Gen (_____) - M - S - ________ - __________
genevsqai(8 answers): 2 Aor (_____) - Dep - Infin (S: Mod) - __________ - __________
toi'" pisteuvousin(12 answers): Pres (Desc) - Act - Ptc (Adj: Subst) - Dat (Appos) - M - P -pisteuvw - to those believing
eij" to; o[noma(8 answers): 3 - Acc (_____) - N - S -  __________________- _______________
aujtou'(10 answers): _____ Pron - Gen (_____) - M - S - ____________________ -_____

oi^(13 answers): Rel Pron - Nom (_____) - M - P -_______________ - introducing _____ _____ appositional dependent clause - _____
oujk: negative adverb introducing a series of negative statements playing off the implicit verb ejgennhvqhsan that shows up at the end of the sentence in the positive expression. Note the series of negatives: oujk...oujde;...oujde;...oujde;...ajll j(not...neither...neither.neither...but). 
ejx aiJmavtwn(8 answers): 3 - Abl (_____) - N - P -__________________- _______________
oujde: coordinate negative conjunction - neither 
ejk qelhvmato"(8 answers): 3 - Abl (_____) - N - S - __________________ - __________
sarko;"(8 answers): 3 - Gen (_____) - F - S - ________________________- __________
oujde: coordinate negative conjunction - neither 
ejk qelhvmato"(8 answers): 3 - Abl (_____) - N - S - ________________________- __________
ajndro;"(8 answers): 3 - Gen (_____) - M - S - ________________________- __________
Ajll j: coordinate conjunction introducing independent clause place in strong contrast to the preceding statements - but 
ejk qeou'(8 answers): 2 - Abl (_____) - M - S - ________- __________
ejgennhvqhsan(9 answers): 1 Aor (_____) - _____ (_____) - Ind - 3 - P - __________ - _______________
Conjugate the following verbs according to the appropriate model (12 answers):
2 Aorist - Active - Indicative Forms of lambavnw(6 answers):

Person:
Singular
Plural









1 Aorist - Active - Indicative Forms of divdwmi(6 answers):

Person:
Singular
Plural








Decline the following nouns and noun derivatives according to the appropriate model (22 answers):
The singular and plural forms of ai|ma, -ato", tov(6 answers):


Singular:
Plural:

Nom 



Gen/Abl


Dat/Ins/Loc


Acc


Interrogative Pronouns  (16 answers).
Sing.
Masc/Fem
Neuter

Nom


Gen/Abla


Dat/Ins/Loc


Acc


Plural

Nom


Gen/Abla


Dat/Ins/Loc


Acc

Block diagram the above text according to the guidelines (14 answers):
   12
         de;


               o^soi e[labon aujtovn, 
21
e[dwken aujtoi'" ejxousivan 


                            tevkna qeou' genevsqai, 

              toi'" pisteuvousin eij" to; o[noma aujtou', 

   13
              oi^ oujk  ejx aiJmavtwn 


                  oujde; ejk qelhvmato" sarko;" 

 
                  oujde; ejk qelhvmato" ajndro;" 


                  ajll j ejk qeou' ejgennhvqhsan.  

Answer the following questions from the block diagram above:

1.
Identify the three antecedents of the personal pronoun aujtoi'" :



(1)
 


(2)
 


(3)



2.
Identify the two antecedents above defining human response to the coming of the Light:



(1)
 


(2)
 

3.
Identify the purely divine aspect in the above antecedents:


4.
Identify the tense forms used in the relative clause and participle phrase. 



(1) o^soi e[labon aujtovn  and  (2) toi'" pisteuvousin eij" to; o[noma aujtou'


1)
 


2)
 

5.
What is the interpretative significance of this shift in tense?


6.
In the relative clause in verse thirteen, list the three negative assertions and then the positive assertion:



(1) -
 


(2) -
 


(3) -
 


(4) +
 

7.
The expression ejk qeou' ejgennhvqhsan in verse thirteen means (circle correct answer).



a)
The Christian has been 'fathered' by God.



b)
The birthing moment is pictured as a Mother giving birth to the Christian.

c) The Christian birth is an ongoing process to be developed by faithful service to Christ.
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